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Quiz 1 – Section 9.1
Circle the correct answer.  Each problem is worth 2 points. You may not use a graphing calculator.

1.   Match the sequence  with its graph.
   a.   [image: ]	   b.  [image: ]          c.     [image: ]     
     
    d.     [image: ]	    e. [image: ]
  

2.  Determine the convergence or divergence of the sequence with the given nth term:  .  If the sequence 
     converges, find its limit.

       a.   The sequence converges to 0            b.  The sequence diverges               c. The sequence converges to 1	      

       d.   The sequence converges to          e.  The sequence diverges to 1 









3.   Write an expression for the nth term of the sequence  





            a.                   b.                   c.   	             d.                    e.   
	                      




4.   Write the next two apparent terms of the sequence 





            a.            b.                 c.              d.                e.  


















5.    Which of the following statements is true concerning the sequence .


            a.                            b.                


c.              	   d.               

            e.  
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